Univ. u Novom Sadu Zb. Rad. Prirod.-Mat. Fak. Ser. Mat. 25,1 (1995), 53-65 Review of Research Faculty of Science Matematics Series

JACOBI POLYNOMIALS IN SPECTRAL APPROXIMATION FOR SHOCK LAYER PROBLEMS

Nevenka Adžić1

Faculty of Technical Sciences, University of Novi Sad Trg Dositeja Obradovića 6, 21000 Novi Sad, Yugoslavia

Abstract

The shock layer problem, described by the second order linear differential equation, with the single turning point is considered. The solution is presented as a sum of the left and right reduced solution and the layer function, which is approximated by the truncated Jacobi orthogonal series. The layer subinterval is determined through the numerical layer length, which depends on the perturbation parameter and the degree of the spectral approximation. The coefficients in the differential equation are approximated by the appropriate power series and certain recurrence relations between the coefficients in the Jacobi orthogonal series are presented. The upper bound for the error function is constructed and the numerical example is included.

AMS Mathematics Subject Classification (1991): 65L10 Key words and phrases: turning point, spectral approximation, Jacobi polynomials, numerical layer length.

1. Introduction

In this paper we shall consider the single turning point problem

(1)
$$Ly(x) = -\varepsilon^2 y''(x) - x f(x) y'(x) + g(x) y(x) = 0, x \in [-1, 1]$$

¹This research was supported by Science Fund of Serbia, grant number 0401A, through Matematički institut.

$$(1.2) y(-1) = A, y(1) = B,$$

where $\varepsilon > 0$ is a small parameter, $A, B \in R, A \neq B, f(x), g(x) \in C[-1,1]$ and

(2)
$$f(x) \ge \alpha > 0, \ \alpha \in R, \ \ell = \frac{g(0)}{f(0)} = 0.$$

It is well known (see e.g. [6]) that under the assumptions (2) the problem (1), (1.2) has the so-called "shock layer" at the point x=0. The problems of this kind are involved in mathematical models of diffusion-convection phenomenon and it has been recognized that certain difficulties arise when standard spectral approximations are applied in the cases where ε is very small. The author has already developed the modification of the standard spectral methods for the singularly perturbed problems without turning points (see e.g. [1]) and for turning point problems with boundary layers (see e.g. [2]), where some investigations for the shock layer problems were also carried out. In that paper the author developed the modification of standard τ -method in detail for the single turning point problems without interior layer, and some ideas for the application of the similar method for the shock layer problems. In this paper the author developes these ideas. The modification is combined with the use of Jacobi orthogonal basis, so that certain recurrence relations, obtained by the author in [1], can be applied to obtain a highly accurat method using only a small number of terms in the appropriate truncated series. This is confirmed by the numerical results. The use of Jacobi orthogonal basis represents the generalization which enables the application of a large number of well known classis of classical orthogonal polynomials such as Legendre or Chebyshev basis.

In Section 2 the original problem will be transformed and the layer subintervals will be determined, using the same idea as in the case of nonselfadjoint problems, but a different technique is requested. In Section 3 the orthogonal projecting, according to Jacobi basis, will be defined and certain recurrence relations will be developed. In Section 4 the upper bound function for the error estimate will be constructed, and in Section 5 the theoretical results will be illustrated by a numerical example.

2. Transformation of the problem

In [6] it was shown that under the asumptions (2) we have

(3)
$$y(x) = \begin{cases} y_L(x) + 0(\varepsilon^2) & -1 \le x < 0 \\ 0(1) & x = 0 \\ y_R(x) + 0(\varepsilon^2) & 0 < x \le 1 \end{cases},$$

where $y_L(x)$ and $y_R(x)$ are left and right reduced solutions, which satisfy

$$(4) -xf(x)y'_L(x) + g(x)y_L(x) = 0, x \in [-1,0), y_L(-1) = A$$

$$(4.2) -xf(x)y_R'(x) + g(x)y_R(x) = 0, x \in (0,1], y_R(1) = B,$$

and

(4.3)
$$y(0) \to \frac{1}{2}(y(-1) + y(1)) = \frac{1}{2}(y_L(0) + y_R(0)).$$

We are going to look for the solution of (1), (1.2) in the form

(5)
$$y(x) = \begin{cases} y_L(x) + u_{\varepsilon}(x) & x \in [-1, 0) \\ y_R(x) + w_{\varepsilon}(x) & x \in (0, 1] \end{cases},$$

where $y_L(x)$ and $y_R(x)$ are determined by (4), (4.2) and $u_{\varepsilon}(x)$ and $w_{\varepsilon}(x)$ represent the solutions of the boundary value problems:

(6)
$$Lu_{\varepsilon}(x) = \varepsilon^2 y_L''(x), x \in [-1, 0), u_{\varepsilon}(-1) = 0, u_{\varepsilon}(0) = A^0 = \frac{B - A}{2},$$

(6.2)
$$Lw_{\varepsilon}(x) = \varepsilon^{2} y_{R}''(x), x \in (0,1], w_{\varepsilon}(0) = B^{0} = \frac{A-B}{2}, w_{\varepsilon}(1) = 0.$$

The boundary conditions in (6) and (6.2) are determined by the use of (4.3).

The idea is to approximate $u_{\varepsilon}(x)$ and $w_{\varepsilon}(x)$ by

(7)
$$u(x) = \begin{cases} 0 & x \in [-1, -\delta] \\ z(x) & x \in [-\delta, 0) \end{cases} \text{ and } w(x) = \begin{cases} v(x) & x \in [0, \delta] \\ 0 & x \in [\delta, 1] \end{cases},$$

where z(x) and v(x) satisfy

(8)
$$Lz(x) = \varepsilon^2 y_L''(x), x \in [-\delta, 0), z(-\delta) = 0, z(0) = A^0,$$

(8.2)
$$Lv(x) = \varepsilon^2 y_R''(x), x \in (0, \delta], v(0) = B^0, v(\delta) = 0.$$

All further investigations will be carried out for the interval [0, 1].

The division point $\delta > 0$ is the so-called numerical layer length which is going to be determined using the following definitions and lemmas

Definition 1. A function $p(x) \in C^2(0, \delta]$ is called a resemblance function for the problem (8.2) if

- 1. it satisfies the boundary conditions in (8.2)
- 2. $x = \delta$ is the stationary point for p(x)
- 3. p(x) is concave for $B^0 > 0$ and convex for $B^0 < 0$.

Lemma 1. The n-th degree polynomial

(9)
$$p_n(x) = a \left(\frac{\delta - x}{\delta}\right)^n, a = \frac{1}{2}(y_L(0) - y_R(0)), n \ge 2$$

is a resemblance function for the problem (8.2).

Proof. We have to verify the conditions from Def. 1.

- 1. $p_n(0) = a = \frac{1}{2}(y_L(0) y_R(0)) = B^0 = v(0)$ (by the use of (4.3) and the boundary condition in (6.2)) and $p_n(\delta) = 0 = v(\delta)$.
- 2. $p'_n(x) = 0$ only for $x = \delta$.
- 3. $\operatorname{sgn} p_n''(x) = \operatorname{sgn} B^0$.

Definition 2. The sufficiently small number δ for which the resemblance function satisfies the differential equation in (8.2) in the neighbourhood of the layer point, x = 0 is called the numerical layer length.

Lemma 2. The numerical layer length for the problem (8.2) is

(10)
$$\delta \approx \varepsilon \sqrt{\frac{n(n-1)}{f(0)}}.$$

Proof. By substituting (9) into (8.2) we obtain

$$-\varepsilon^2 \frac{an(n-1)}{\delta^2} \left(\frac{\delta-x}{\delta}\right)^{n-2} + x f(x) \frac{an}{\delta} \left(\frac{\delta-x}{\delta}\right)^{n-1} + g(x) a \left(\frac{\delta-x}{\delta}\right)^n = \varepsilon^2 y_R''(x).$$

At the neighbourhood point $x = \frac{\delta}{n}$ of the layer point x = 0 this will give

$$-\varepsilon^2\frac{an(n-1)}{\delta^2}(1-\frac{1}{n})^{n-2}+f(\frac{\delta}{n})a(1-\frac{1}{n})^{n-1}+g(\frac{\delta}{n})a(1-\frac{1}{n})^n=\varepsilon^2y_R''(\frac{\delta}{n}).$$

For a sufficiently small δ and sufficiently large n $f\left(\frac{\delta}{n}\right) \approx f(0)$, $g\left(\frac{\delta}{n}\right) \approx g(0) = 0$ and $\left(1 - \frac{1}{n}\right)^{n-j} \approx \frac{1}{e}$ for j = 0, 1, 2, so that the above equation becomes

$$-\varepsilon^2 \cdot \frac{an(n-1)}{\delta^2} + f(0)a = \varepsilon^2 e y_R''(0).$$

This gives

$$\delta = \varepsilon \sqrt{\frac{an(n-1)}{af(0) - \varepsilon^2 e y_R''(0)}} \approx \varepsilon \sqrt{\frac{n(n-1)}{f(0)}},$$

when ε is small.

Now we can proceed to construct the approximate solution for he problem (8.2), using Jacobi polynomial basis. In that purpose we must, first, transform the interval $[0, \delta]$ into [-1, 1] using the substitution $x = \frac{\delta}{2}(t+1)$. Thus, (8.2) becomes

(11)
$$L_{\delta}V(t) \equiv -\mu^2 V''(t) - F(t)V'(t) + G(t)V(t) = H(t), \ t \in [-1, 1]$$

$$(11.2) V(-1) = B^0, V(1) = 0,$$

with

(11.3)
$$V(t) = v\left(\frac{\delta}{2}(t+1)\right), \mu = \frac{2\varepsilon}{\delta}, \quad F(t) = (t+1)f\left(\frac{\delta}{2}(t+1)\right),$$
$$G(t) = G\left(\frac{\delta}{2}(t+1)\right), \qquad H(t) = \varepsilon^2 y_R''\left(\frac{\delta}{2}(t+1)\right).$$

3. Jacobi spectral approximation

The spectral solution of the problem (11), (11.2) will be represented as a truncated orthogonal series of degree n, according to Jacobi basis of the

space P_n of all real polynomials of degree up to n. Let, first, remind us of their properties.

Classical Jacobi polynomials $P_k^{\alpha,\beta}(t)$, $\alpha > -1$, $\beta > -1$, represent a particular solution of the differential equation

$$(1 - t^2)\phi''(t) + (\beta - \alpha - (\alpha + \beta + 2)t)\phi'(t) + k(k + \alpha + \beta + 1)\phi(t) = 0,$$

$$t \in [-1, 1], k \in N_0$$

and they satisfy the recurrence Bonnet's relation

(12)
$$P_{k+1}^{\alpha,\beta}(t) - (\alpha_k t + \beta_k) P_k^{\alpha,\beta}(t) + \gamma_k P_{k-1}^{\alpha,\beta}(t) = 0, k = 0, 1, \dots$$
$$P_0^{\alpha,\beta}(t) = 1, \qquad P_{-1}^{\alpha,\beta}(t) = 0,$$

with

(12.2)
$$\alpha_{k} = \frac{(2k + \alpha + \beta + 1)(2k + \alpha + \beta + 2)}{2(k+1)(k+\alpha + \beta + 1)},$$

$$\beta_{k} = \frac{(2k + \alpha + \beta + 1)(\alpha^{2} - \beta^{2})}{2(k+1)(k+\alpha + \beta + 1)(2k+\alpha + \beta)},$$

$$\gamma_{k} = \frac{(k+\alpha)(k+\beta)(2k+\alpha + \beta + 2)}{(k+1)(k+\alpha + \beta + 1)(2k+\alpha + \beta)}.$$

For the derivatives we have

(13)
$$(1-t^2)(P_k^{\alpha,\beta}(t))' = (u_k t + v_k) P_k^{\alpha,\beta}(t) - w_k P_{k-1}^{\alpha,\beta}(t)$$

with

(13.2)
$$u_k = -k, \ v_k = \frac{k(\alpha - \beta)}{2k + \alpha + \beta}, \quad w_k = \frac{-2(k + \alpha)(k + \beta)}{2k + \alpha + \beta}.$$

When speaking of Jacobi spectral approximation of the solution V(t) of the problem (11), (11.2), we, in fact, consider a truncated orthogonal series

(14)
$$V_n(t) = \sum_{k=0}^n a_k P_k^{\alpha,\beta}(t),$$

such that

(15)
$$L_{\delta}V_n(t) = H(t), \ t \in [-1,1], \ V_n(-1) = B^0, \ V_n(1) = 0.$$

It is well known that if $n \to \infty$ then $V_n(t) \to V(t)$.

Here, we have to overcome two difficulties: First, to express $(P_k^{\alpha,\beta}(t))'$ and $(P_k^{\alpha,\beta}(t))''$ through $P_k^{\alpha,\beta}(t)$, and to represent products $F(t)V_n'(t)$ and $G(t)V_n(t)$ in the form of truncated Jacobi orthogonal series. To that purpose we whall approximate F(t) and G(t) by the power series

(16)
$$F(t) = \sum_{j=0}^{n} f_j t^j \text{ and } G(t) = \sum_{j=0}^{n} g_j t^j.$$

Further we shall need some results obtained by the author in [1]:

a) Starting from (12) and multiplying it by t(j-1) times, and using the following notation each time, we can easily see that

(17)
$$t^{j}P_{k}^{\alpha,\beta}(t) = \sum_{i=k-j}^{k+j} A_{i}^{j}P_{i}^{\alpha,\beta}(t),$$

with

(17.2)
$$A_i^j = \frac{A_{i-1}^{j-1}}{\alpha_{i-1}} - \frac{\beta_i A_i^{j-1}}{\alpha_i} + \frac{\gamma_i A_{i+1}^{j-1}}{\alpha_{i+1}}, \ i = k - j, \dots, k + j,$$

(17.3)
$$A_{i+1}^1 = \frac{1}{\alpha_i}, \ A_{A_i}^1 = \frac{-\beta_i}{\alpha_i}, \ A_{i-1}^1 = \frac{\gamma_i}{\alpha_i}, \ i \in N_0,$$

where for i = k - j + 1 the first term is omitted, for i = k + j - 1 the last one, for i = k - j the first two, and for i = k + j the last two terms are omitted.

b) The first derivative of $P_k^{\alpha,\beta}(t)$, being a polynomial of k-1 degree, can be represented exactly as a linear combination of the Jacobi basis of space P_{k-1} , i.e.

(18)
$$(P_k^{\alpha,\beta}(t))' = \sum_{i=0}^{k-1} b_i^{(1)} P_i^{\alpha,\beta}(t).$$

Introducing (18) into (13) and making use of (17) for j = 2, we come to the following recurrence relations:

$$b_{k-1}^{(1)} = \frac{-u_k A_{k+1}^1}{A_{k+1}^2}, \ b_{k-2}^{(1)} = \frac{-u_k A_k^1}{A_k^2} - \frac{v_k}{A_k^2} - b_{k-1}^{(1)}$$

$$(19) \quad b_{k-3}^{(1)} = \frac{-u_k A_{k-1}^1}{A_{k-1}^2} + \frac{w_k}{A_{k-1}^2} - b_{k-2}^{(1)} - b_{k-1}^{(1)} \left(1 - \frac{1}{A_{k-1}^2} \right)$$

$$b_{i-2}^{(1)} = b_{i-1}^{(2)} - b_i^{(1)} \left(1 - \frac{1}{A_i^2} \right) - b_{i+1}^{(1)} - b_{i+2}^{(1)}, \quad i = k - 2, \dots, 2.$$

Using the similar technique for the second derivative we obtain

(20)
$$(P_k^{\alpha,\beta}(T))'' = \sum_{i=0}^{k-2} b_i^{(2)} P_i^{\alpha,\beta}(t)$$

where

$$b_{k-2}^{(2)} = k(k+\alpha+\beta+1) - (\alpha+\beta+2)b_{k-1}^{(1)}, \ b_{k-3}^{(2)} =$$

$$= -b_{k-2}^{(2)} + b_{k-1}^{(2)}(-(\alpha+\beta+2)\frac{A_{k-1}^1}{A_{k-1}^2} + \frac{\beta-\alpha}{A_{k-1}^2}) - b_{k-1}^{(1)}\frac{(\alpha+\beta+2)}{A_{k-1}^2}$$

$$(20.2) \quad b_{i-2}^{(2)} = b_{i-1}^{(2)} + b_i^{(2)}(\frac{1}{A_i^2} - 1) - b_{i+1}^{(2)} - b_{i+2}^{(1)} - b_{i+1}^{(1)}(\alpha+\beta+2)\frac{A_i^1}{A_i^2} +$$

$$b_i^{(2)}\frac{\beta-\alpha(\alpha+\beta+2)A_i^1}{A_i^2} - b_{i-1}^{(1)}\frac{(\alpha+\beta+2)A_i^1}{A_i^2} \quad i=k-2,\ldots,2.$$

Finally, if we represent the function H(t) as

(21)
$$H(t) = \sum_{k=0}^{n} h_k P_k^{\alpha,\beta}(t),$$

we can prove the following theorem:

Theorem 1. The coefficients a_k in the solution (14) of the problem (11), (11.2), obtained using τ -method, represent the solution of the system

$$(22) - \mu^{2} b_{i}^{(2)} \sum_{k=i+2}^{n} a_{k} + \sum_{j=0}^{n} A_{i}^{j} (f_{j} \sum_{r=M}^{m} (b_{r}^{(1)} \sum_{k=r+1}^{n} a_{k}) + g_{j} \sum_{k=M}^{m} a_{k}) = h_{i}$$

$$i = 0, \dots, n-2$$

(22.2)
$$\sum_{k=0}^{n} (-1)^k \binom{k+\alpha}{k} a_k = B^0, \qquad \sum_{k=0}^{n} \binom{k+\alpha}{k} a_k = 0,$$

where $M = \max(0, i - j)$, $m = \min(n, i + j)$.

Proof. In order to obtain the equations (22) we substitute (14) and (21) into (15) and make use of (18), (20) and (17). After equating the coefficients at $P_i^{\alpha,\beta}(t)$, $i=0,\ldots,n-2$ we come to (22). The equations (22.2) are obtained directly from the boundary conditions in (15), using that

$$P_k^{\alpha,\beta}(1) = {k+\alpha \choose k}$$
 and $P_k^{\alpha,\beta}(-t) = (-1)^k P_k^{\alpha,\beta}(t), \quad k = 0, 1, \dots$

After the system (22), (22.2) is solved for a_k , k = 0, ..., n, we obtain the approximate solution

(23)
$$y_n(x) = y_R(x) + v_n(x) = y_R(x) + V_n(\frac{2x}{\delta} - 1), \quad x \in (0, \delta].$$

4. The error estimate

Out of the boundary layer, the exact solution of the problem (1), (1.2) is approximated by the solution of the reduced problem. According to (3) the following estimate is valid

(24)
$$d(x) = |y(x) - y_R(x)| \le C\varepsilon^2, \quad x \in [\delta, 1].$$

Throughout the paper C will denote an arbitrary constant independent of x and ε .

Let us now estimate the error upon the layer subinterval $(0, \delta]$. The error function, according to (5) and (23) is

(25)
$$d(x) = |y(x) - y_n(x)| = |w_{\varepsilon}(x) - v_n(x)|.$$

In order to estimate it, we have, first, to prove the following lemma:

Lemma 3. Let $g(x) \ge K^2$, $K \in R$ for $x \in (0, \delta]$. Then

(26)
$$|w_{\varepsilon}(x) - v(x)| \le C\varepsilon^2 \text{ for } x \in (0, \delta].$$

Proof. The function $w_{\varepsilon}(x)$ satisfies the boundary value problem

(27)
$$Lw_{\varepsilon}(x) = \varepsilon^2 y_R''(x), \ x \in (0, \delta], \ w_{\varepsilon}(0) = B^0, \ w_{\varepsilon}(\delta) = y(\delta) - y_R(\delta).$$

Subtracting (8.2) from (27) we obtain

$$L(w_{\varepsilon}-v)(x)=0, (w_{\varepsilon}-v)(0)=0, (w_{\varepsilon}-v)(\delta)=y(\delta)-y_{R}(\delta).$$

As $g(x) \ge K^2$ and, according to (2), xf(x) > 0, for $x \in (0, \delta]$ the operator L is inverse monotone. So, by the principle of inverse monotonicity we can conclude that

$$|w_{\varepsilon}(x) - v(x)| \le |y(\delta) - y_{R}(\delta)|.$$

Using the estimate (24) for $x = \delta$ we obtain (26).

Theorem 2. Let ω_i , i = 1, 2 be the exact solutions of the problems

(29)
$$-\varepsilon^2 \omega_1''(x) - x F_1 \omega_1'(x) = 0 \ x \in (0, \delta], \ \omega_1(0) = B^0, \ \omega_1(\delta) = 0$$

$$(29.2) - \varepsilon^2 \omega_2''(x) - \delta F_2 \omega_2'(x) + K_2^2 \omega_2(x) = 0, x \in (0, \delta], \omega_2(0) = B^0, \omega_2(\delta) = 0,$$

where F_1 , F_2 , K_2 , $K \in \mathbb{R}$ are such constants that $F_1 \leq f(x) \leq F_2$, $K^2 \leq g(x) \leq K_2^2$ while $x \in (0, \delta]$ and

(30)
$$d_n(x) = \max\{|\omega_i(x) - v_n(x)|\}.$$

Then the error d(x), defined by (25) can be estimated as

(31)
$$d(x) \le C\varepsilon^2 + d_n(x), \quad x \in (0, \delta].$$

Proof. We can see that

(32)
$$d(x) \le |w_{\varepsilon}(x) - v(x)| + |v(x) - v_n(x)|,$$

where v(x) is the solution of the problem (8.2).

Let us, first, assume that $B^0 > 0$. Then, applying the principle of inverse monotonicity to the problems (29) and (29.2), we have

(33)
$$\omega_i(x) \ge 0 \text{ and } \omega_i'(x) \le 0, i = 1, 2 \text{ for } x \in (0, \delta].$$

Defining the functions $f_i(x) \ge 0$, i = 1, 2, 3 and $g_2(x) \ge 0$, such that $f(x) = F_1 + f_1(x)$, $f(x) = F_2 - f_2(x)$, $F_2 = F_1 + f_3(x)$, $g(x) = K_2^2 - g_2(x)$ for $x \in (0, \delta]$, using (29), (29.2) we obtain

$$L\omega_2(x) = -\varepsilon^2 \omega_2'' - x(F_2 - f_2(x))\omega_2' + (K_2^2 - g_2(x))\omega_2 =$$

= $(\delta - x)F_2\omega_2' + xF_2\omega_2' - g_2\omega_2$

and

$$L\omega_1(x) = -\varepsilon^2 \omega_1'' - x(F_1 + f_1(x))\omega_1' + g(x)\omega_1 = -xf_1(x)\omega_1' + g(x)\omega_1,$$

i.e., according to (2) and (33) we have

(34)
$$L\omega_1(x) \ge 0$$
 and $L\omega_2(x) \le 0$.

We can also, see that

$$\begin{split} &-\varepsilon^2(\omega_2-\omega_1)''-\delta F_2(\omega_2-\omega_1)'+K_2^2(\omega_2-\omega_1)=\\ &=xf_3(x)\omega_1'+(\delta-x)F_2\omega_1'-K_2^2\omega_1<0,\ x\in(0,\delta],\\ &(\omega_2-\omega_1)(0)=(\omega_2-\omega_1)(\delta)=0, \end{split}$$

which, using the principle of inverse monotonicity, gives that

(35)
$$(\omega_2 - \omega_1)(x) \le 0$$
, i.e. $\omega_2(x) \le \omega_1(x)$ for $x \in (0, \delta]$.

Applying the result given by Lorenz in [5], the relations (34), (35) and boundary conditions in (29), (29.2) give the following inequality

$$\omega_2(x) \le v(x) \le \omega_1(x), \quad x \in (0, \delta],$$

where v(x) is the solution of the problem (8.2).

After subtracting $v_n(x)$ in the above inequality we conclude that

(36)
$$|v(x) - v_n(x)| \le \max_{i} \{|\omega_i(x) - v_n(x)|\} = d_n(x)$$

In the case $B^0 < 0$, using the same technique, we, again, come to (36). Finally, using the estimates (26) and (36) in (32) we obtain (31).

5. Numerical example

We shall use the following test example:

$$-\varepsilon^2 y''(x) - xy'(x) = 0$$
 $x \in [-1, 1], y(-1) = 0, y(1) = 2,$

with the solution

$$y(x) = 1 + \frac{erf(x/(\sqrt{2\varepsilon}))}{erf(1/(\sqrt{2\varepsilon}))}.$$

64 N. Adžić

The left reduced solution is $y_L(x) \equiv 0$, and the right reduced solution is $y_R(x) \equiv 2$. The numerical layer length, applying (10), is

$$\delta = \varepsilon \sqrt{n(n-1)}.$$

In the following table we shall give the values of the exact solution and the error d(x) in several points from the layer for x > 0. The results for x < 0 are the same. The results are obtained for $\alpha = \beta = 0$ i.e. Legendre basis

Table 1.

$\varepsilon = 10^{-7}$		n = 8	n = 12
\boldsymbol{x}	y(x)	d(x)	d(x)
0,00000001	1.08	$1.3\cdot 10^{-3}$	$4.9\cdot 10^{-4}$
0,00000005	1.38	$5.9\cdot 10^{-4}$	$3.0 \cdot 10^{-3}$
0,00000008	1.58	$7.5\cdot 10^{-5}$	$2.2\cdot 10^{-3}$
0,0000001	1.68	$3.0 \cdot 10^{-4}$	$2.3\cdot 10^{-4}$
0.0000002	1.95	$2.2 \cdot 10^{-3}$	$1.2 \cdot 10^{-3}$

Remark. The above results are of the same order as the results obtained in [2] where the Chebyshev basis combined with the collocation method was used.

References

- [1] Adžić, N., Jacobi approximate solution of the boundary layer problem, Univ. u Novom Sadu, Zb. Rad. Prirod.-Mat. Fak. Ser. Mat. 23,1 (1993), 347-359.
- [2] Adžić, N., Spectral approximation for single turning point problem, Z. angew. Math. Mech. 72,6 (1992), T621-T624.
- [3] Doolan, E., Miller, J., Schilders, W., Uniform numerical methods for problems with initial and boundary layers, Dublin Boole Press, 1980.
- [4] Kasin, B., Saakjan, A., Ortogonalnie rjadi, Nauka, Moskva 1984.

- [5] Lorenz, J., Stability and monotonicity properties of stiff quasilinear boundary problems, Univ. u Novom Sadu, Zb. Rad. Prirod.-Mat. Fak. Ser. Mat. 12 (1982), 151-173.
- [6] Nayfeh, A., Perturbation methods (New York 1973).

Received by the editors May 21, 1994.